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There is only one correct answer/choice for each question. Choose the BEST POSSIBLE ANSWER.

1. An “etiological myth” is one that seems to explain a natural or cultural phenomenon.
From which of the following Greek words does “etiological” derive?
a) altix ¢) fAlog
b) étog d) téAog

2. What gender, number, and case can 1jttw (from the comparative adjective fttwv,
-ov) be?
a) feminine singular accusative  ¢) masculine singular genitive
b) masculine plural nominative d) neuter plural genitive

3. The form of the definite article which agrees with (modifies) vOkta is:
a) T c) 16
b) v d) tov

4. Which is a correct superlative form of the adjective ¢x000g, -&, -0v?
a) éxOota c) éxOpéotartog
b) éxOoatat d) éxOpwtepov

5. The accusative singular form of cwua, cwpatog, T0 is:
a) cwpa C) cwpATAV

b) cwpata d) copatov

6. Choose the article/noun pair that best completes this sentence:

XOT) TOUG LIOVG €l¢ TOV MOAEHOV TTEUPaL.
a) al UNTéQeg C) TN untot
b) tac untéoac d) twv untépwv

7. Which form of épwtdw is correctly accented?
a) éowtag C) €pWtag
b) éowrtac d) éowtacg
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8. Choose the verb that best completes this sentence:
TX OV TV AyaOwV MomTwVv €0ya Tag TV avOQwnwyv Puxag

a) dwa&ovowv ) eddaev
b) didcokopev d) €ddaokov

9. The adjective that agrees with the noun £0voucg is:
a) pirog c) pidovg
b) piAov d) ptAwv

10. Choose the preposition that best completes this sentence:

0 d¢ péyag PaociAedg tovg dovAovg duvapet keAegveL
a) dx C) éx
b) eig d) ouv

11. The adjective that agrees with (modifies) the noun 6000 is:
a) evBelag ) evOv
b) evBov d) evBvg

12. Choose the alternative that is closest in meaning to this sentence:
“1 0¢ unnE Aéyet wg 6 viog ovk EoTv &d&log Tov Bavatov.”

a) 11 0¢ UM TNE TOV TOL LIOL BAvaTov EdéEato.

b) 1) urjtno tov viov amobaveioOat péAAeL

¢) kat 1) unne Aéyet wg 6 viog d&lwtatdg €0t TOL BavaTov.
d) xai ) unno @not tov viov ovk eivat &Elov amoOvr|oKeLy.

13. Afelis a future tense form of the same verb as which of the following aorist tense
forms?
a) elmeg c) éAaBeg
b) éAafBec d) éAumteg

14. Which form of kaAéw is correctly accented?
a) kKaAovuev C) KAAOULEV
b) k&Aovpev d) kaAovpev

15. Which is the correct tense and mood of €dote?

a) aorist imperative ) imperfect indicative
b) aorist indicative d) present imperative
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16. Choose the best translation for this sentence:
TX YOQ TTLOA TA €V TOIG OQETL TH) YuValki dNAot wg €k ToL TIOAEOL O €x000g
avno, 6 Pacidevg, mapa v oikiav égxetaL

a) For the fires are clear to the woman on the mountains because the hateful man
is coming from the war to the house of the king.

b) For the fires on the mountains are being made clear to the woman because the
hated man, the king, is coming against her house for the sake of war.

c) For the fires on the mountains are showing the wife that her hated husband,
the king, is coming home from the war.

d) For the hateful man, the king, on account of the war, came to make the fires on
the mountains, which were seen clearly by the woman.

17. What is one correct identification of the gender, number, and case of mavta?
a) feminine singular accusative
b) feminine singular nominative
¢) masculine singular accusative
d) neuter singular accusative

18. Consider this sentence:
Oel VOWE TMOAV TOIG OTEATIWTALS OLOOVAL OL TNV TTOALV PUARTTOLOLV.

If you were to replace the relative clause “ol t1)v moAwv puAdtTovowy” with a
participial phrase but keep the meaning of the sentence exactly the same, you
would delete the relative clause and replace “toig otpatiwtalc” with:

a) TV MOALV OTQATIWTALS PUAKTTOVOL

b) toic otoaTIwTALS TV TTOALY PUAATTOLOL
C) TOIG TNV TTOALV QUAATTOVOL OTQATLWTALS
d) Toic g mMoOAews PUAAEL

19. Which relative pronoun fits correctly in this sentence?

ol ToAAOL TAG TOL oWHATOS NdoVAg ECr)Tnoav oL oo@pot ovK
EmioTevoav.

a) al C) &g

b) aig d) wv
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20. Which form of tipaw is an imperative?
a) etipnoag C) TN oETE
b) Tipa d) tipnoov

FOR THE FOLLOWING QUESTIONS, PLEASE CONSULT THE READING
PASSAGE, WHICH YOU MAY FIND AT THE END OF THE EXAM.

21. According to line 1, who thinks Socrates should be remembered?
a) Hermogenes c) Socrates
b) Plato d) Xenophon

22. According to lines 1-2, what got Socrates thinking about death?
a) Socrates’ defense had failed.  c) Socrates had been summoned to court.
b) Socrates felt very old. d) Socrates was trying to live justly.

23. According to lines 3-4, what conclusion is shared by everyone who has written
about Socrates?
a) Socrates considered the charges unjust.
b) Socrates was an eloquent speaker.
¢) Socrates was not timid in his defense.
d) Socrates was ready to die.

24. According to line 4, does Xenophon share this conclusion?
a) It is unclear.
b) Xenophon affirms the conclusion.
c) Xenophon denies the conclusion.
d) Xenophon refuses to commit.

25. According to lines 5-6, what has been overlooked by previous authors?
a) Socrates already considered death preferable to life.
b) Socrates believed that a good life resulted in a good death.
¢) Socrates considered death an extension of life.
d) Socrates was already close to death.

26. According to line 6, what was the typical understanding of Socrates’ defense?
a) Socrates appeared to play the fool in order to defend himself.
b) Socrates’ defense was considered foolish.
c) Socrates” defense was deemed arrogant by the foolish.
d) Socrates’ foolishness rendered his defense unintelligible.

the exam continues on the next page —
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In line 7, who is Hermogenes?
a) a critic of Socrates
b) a friend of Hipponikos
¢) a friend of Socrates
d) a herald for the Athenian court

In line 7, who is Hipponikos?
a) a friend of Hermogenes
b) a friend of Socrates
c) a son of Hermogenes
d) the father of Hermogenes

According to lines 7-8, what does Hermogenes claim?
a) Socrates appeared brash in his defense.
b) Socrates did not appear to defend himself suitably.
) Socrates failed to defend himself.
d) Socrates was intentionally arrogant in his defense.

To whom does the pronoun éxetvog in line 9 refer?
a) Hermogenes ¢) Socrates
b) Hipponikos d) Xenophon

In line 9, to whom does avtov refer?
a) Hermogenes ¢) Socrates
b) Hipponikos d) Xenophon

According to lines 9-10, what is the topic of the conversation?
a) all the elements of speaking at the trial
b) every element of true justice
c) everything connected to the upcoming trial
d) why Socrates speaks of everything but the defense itself

According to line 10, what concerns Hermogenes?
a) Socrates’ failure to apologize c¢) Socrates’ lack of investigation
b) Socrates” health d) Socrates’ plan for his defense

In line 10, what is the best translation of kai?
a) also ¢) indeed
b) and d) just
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35. In line 11, to whom does tov 0¢ refer?
a) Hermogenes ) Socrates
b) Hipponikos d) Xenophon

36. In lines 11-12, which word best describes the response to the question in line 10?
a) anger ¢) shame
b) delight d) surprise

37. According to lines 11-12, when had Socrates prepared his defense?
a) Socrates had prepared his defense for all of his life.
b) Socrates had prepared his defense when he practiced.
c) Socrates had prepared his defense when it seemed good.
d) Socrates never prepared a defense.

38. In line 12, what confusion is indicated by the question “ntwg;”?
a) confusion about how Socrates intends to defend himself
b) confusion about how Socrates practiced apologizing
c) confusion about the nature of Socrates’ life
d) confusion about the nature of Socrates” philosophical exercises

39. According to lines 12-13, what does Socrates consider the best preparation for a
defense in court?
a) a life dedicated to philosophy
b) a life dedicated to speaking the truth
c) a life lived without doing any wrong
d) a life well-examined

40. All in all, Xenophon depicts Socrates” defense as what?
a) His defense speech lacked preparation.
b) His defense speech matched his way of life.
c) His defense speech was ill-conceived.
d) His defense speech was impulsive.

TEAOX
THE END
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Socrates was tried and found guilty of impiety by a jury in Athens in 399 BCE. Years later, the Athenian

Xenophon recorded what he had learned about how Socrates defended himself.
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ZwKQATOUg d¢ AELOV poL dokel elvat pepvnobat kal wg, Emetdn) ékANOn elg v

dtknv, ¢BovAevoato mepl te NG amoAoylag kat TG teAevTng Tov Plov.

YEYQAPAOL LEV OVV TEQL TOVTOL Kal AAAOL kal TAVTES ETUXOV TIG

HeyaAnyoplag avtov —@ kal dONAov 0Tl T@ 6vTL 00TWS €010 VO LwKEATOUG.

AAAG—OTL 0N £avTE EVOULLEV aQETWTEQOV elval To Blov O&vaTov—ToUTO OV

dlaoaPNVIoAV. WOTE APQOVETTEQA AVTOV PALVETAL ELVALT] LeYAANYOQIQ.

‘Eopoyévng pévtor 6 Trmovikov £taipds te v avt@ kal €1 yYyelde mepl avTOL

TOLAVTA WOTE TIRETIOLOAY PalvecOal TV peyaAnyoplav avtov th diavola.

EKELVOC YAQ €@T1), 00WV AVTOV TEQL TTAVTWV HAAAOV dlaxAeyoevov 1) el TG

dlkNg, elTtely, “oVK £XOMNV HEVTOL OKOTIELY, W LWKQATES, kKal O TL dmtoAoyror);”

TOV 0¢ TO HEV MOWTOV &TtokpiveaOat “ov yap dokw oot dnoAoyeloOatl peAetwy,

daBePlwkévar” emel d avtov Eowtav “mwg;”, elmtely, “OTL 0VdEV AdLKOV

dlryeyévnuat motwv—1v vopillw peAétnv etvat kKaAAiotnv amnoAoyiag.”

YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE EXAM
IN ORDER TO CONSULT THE READING PASSAGE MORE EASILY.
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GLOSSES FOR THE READING PASSAGE

adikog, -ov: unjust

QLQETWTEQOG, -0V: preferable

amoAoyéopat: to speak in defense

amolAovyia, -ag, 1: defense speech

a@owv, -ov: foolish

OtafLow: to spend one’s whole life

Owyiyvopau: to go through life

olavoia, -ag, 1): intention, purpose

Otaoa@nviCw: to make quite clear

£avtov, éavtrh)g, éavtov: (pron) himself,
herself, itself

£kA1)On = "he was summoned”

€EayvéAAw: to make known, proclaim

émel: (conj) when

€meldn: (conj) when

‘Eouoyévng, -ovg, 6: Hermogenes

£00M0On = “it was spoken, it was said”

£€taigog, -ov, 6: companion

£€tuxov = “touched on” (+ gen)

Non: (adv) already

Inmnévikog, -ov, 6: Hipponikos

paAAov: (adv) more than

peyaAnyoogia, -ag, 1): arrogance, brashness,
cockiness

peAeTaw: to practice (+ inf)

peAérn, -1, 1): practice, exercise

pévrotr = “however”

MUV OKw: to remember

neénw: to be fitting, to suit (+ dat)

nwg: (adv) how?

LwKEATNG, -0vg, 0: Socrates

teAevTr), -Ng, 1): end, finish

TOLOUTOG, TOLAUTT), TolovTO: (pron) such a
thing

T OvTL = “in reality”

w: (exclamation) “Hey!”

ware: (conj) so that, with the result that

YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE EXAM
IN ORDER TO CONSULT THE GLOSSES MORE EASILY.



